

TREDA MARTINS

19/06/2029

Mechanical Engineering

$$1 \quad AB = \sqrt{(2-6)^2 + (1-5)^2}$$

$$AB = \sqrt{(-4)^2 + (-4)^2}$$

$$AB = \sqrt{16 + 16}$$

$$AB = \sqrt{32}$$

$$AB = 10$$

$$AC = \sqrt{(0-6)^2 + (3-5)^2}$$

$$= \sqrt{(-6)^2 + (-2)^2}$$

$$= \sqrt{36 + 4}$$

$$= \sqrt{40}$$

$$= 10$$

$$= 10$$

$$BC = \sqrt{(0-2)^2 + (3-1)^2}$$

$$= \sqrt{(-2)^2 + (2)^2}$$

$$= \sqrt{4 + 4}$$

$$= \sqrt{8}$$

$$= 2.8$$

2. If P, Q and R are points $(3, 3)$, $(-4, 3)$ and $(4, -15)$ respectively, find the ratio in which

a. P divides QR

b. R divides PQ

Solution

a. The value of P $\left(\frac{kx_2 + x_1}{k+1}, \frac{ky_2 + y_1}{k+1} \right)$

$$P(3, 3) = \left(\frac{kx_2 + x_1}{k+1}, \frac{ky_2 + y_1}{k+1} \right)$$

$$\frac{kx_2 + x_1}{k+1} = \frac{3}{1} \quad \text{and} \quad \frac{ky_2 + y_1}{k+1} = \frac{-3}{1}$$

$$\frac{14k + (-4)}{k+1} = \frac{3}{1} \quad \text{and} \quad \frac{3k + 3 - 15k + 9}{k+1} = \frac{-3}{1}$$

$$5k + 5 = 14k - 4$$

$$5k - 14k = -4 - 5$$

$$-9k = -9$$

$$\therefore k = 1$$

\therefore P divides QR in the ratio of 1:1

b) for the ratio in which R divides PQ

the value of R $\left(\frac{kx_2 + x_1}{k+1}, \frac{ky_2 + y_1}{k+1} \right)$

$$R(4, -15) = \left(\frac{kx_2 + x_1}{k+1}, \frac{ky_2 + y_1}{k+1} \right)$$

$$R(4, -15) \therefore \frac{kx_2 + x_1}{k+1} = \frac{4}{1} \quad \text{and} \quad \frac{ky_2 + y_1}{k+1} = \frac{-15}{1}$$

$$\frac{-4k + 3}{k+1} = \frac{4}{1} \quad \text{and} \quad \frac{9k - 3}{k+1} = \frac{-15}{1}$$

$$-4k + 3 = 4k + 4 \quad \text{and} \quad -9k + 15 = 9k - 3$$

$$-4k - 4k = 4 - 3 \quad \text{and} \quad -9k - 9k = -3 - 15$$

$$\frac{-8k}{-8} = \frac{1}{-8} \quad \text{and} \quad \frac{-18k}{-18} = \frac{12}{-18}$$

$$k = -\frac{1}{8} \quad \text{and} \quad k = -\frac{1}{2}$$

\therefore Hence R divides PQ in the ratio of $-\frac{1}{2} : \frac{1}{8}$